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01 ISR ZEE 1,750,800 1,083,100 717,700
OUE A2AlE &3 556,800, 0002 556,800
=2 486,000
Al 70,800
OBig A2AL 3| 1,194,000,00024 1,194,000
2 777,000
Al 417,000
SCHIISHRINE 29 3,253, 194 28,673,350 3,579,835
201 YBr2 | 57,400 2,400 55,000
01 AlR22lH] 57,400 2,400 55,000




o= 23= A =S
33 Hol=Zg & Mg =8
ol ZFHHIIZ XMelAd 23 (SH9 H2)
4= -7 - HA(3) - MM - BES Off &K oﬁg% HusZ
Os% FUXASEANM 3o &g
2,400,000& 2,400
O3F e ZHEe 2|
55,000,000& 55,000
308 XtXIEME0IH 26,683,957 25,121,160 1,562,797
13 SI12S0He A AS A 26,683,957 25,121,160 1,562,797
OSSN SHHE BaH A
26,683,957,000& 26,683,957
403 AXIEHMSAH=0lH 5,511,837 3,549,799 1,962,038
02 SO 2SO0t =22 2 EF A I 5,511,837 3,549,799 1,962,038
OsZHSZdH =X AL
5,511,837,000& 5,511,837
HtHDISXEIAE 2 25,591,343 25,705,452 A114,109
201 fet=3| 1,200 2,400 21,200
01 At22t2l] 1,200 2,400 21,200
OHct FUXAFANM 3|9 &g
1,200,000 1,200
308 XtXIEMSOIE 20,171,531 19,594,366 577,165
18 SIS0t 4 A AS A 20,171,531 19,594,366 577,165
OFctAHSZHE ZaH A
20,171,531,000& 20,171,531
403 AXIEHMSA=0l1d 5,418,612 6,108,686 269,074
02 SI12SoItHe = E AEAE I 5,418,612 6,108,686 269,074
OIS ZHH HEH A
5,418,612,000& 5,418,612
HEH 29 METSsHH 2 4,279,778 3,535,792 743,986
308 XtXIEMSO0IH 3,748,524 3,533,384 215,140
13 SIS0t 34 A AS A 3,748,524 3,533,384 215,140
OgRzd 29 Maie=HE a8
HALSHI 3,748,524,000& 3,748,524
403 AXIEHMSAH=0ld 531,254 531,24
02 SI12SoItHe A= E AEAS I 531,254 531,254
Oged 29 H&lds=dH 28 o
HAFSHI 531,254,000 531,254
AN HOIESHMEIAE 22l 1,000 1,000 0
202 Ot 1,000 1,000
01 =LHoi 1,000 1,000
OHJISHelAlE X=EE & 2l
1,000,000 1,000
S40tA HHEA 0 369, 135 1,047,522 N\678,387
201 er=23| 369, 135 1,047,522 N\678,387
2 s5=34l 369,135 1,047,522 678,387
O24IJtA HIEA 04 369, 135,000 369,135
HolS 22 2 XHEMZS AIY =& 1,095,820 649,891 445,929
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= &= A =&
M oIS
=2l ZHHOI=S (CH9: &S1)
4=-5 A - HIRAY - BSS A HIDE2
308 AbXIE 1,095,820 649,891 445,929
01 XX 1,095,820 649,891 445,929
OBAHIIZH 2 BN
& XA 1,095,820,000& 1,095,820
HH =S 3 36,375 36,600 N225
Jl2gel(Xd= 36,375 36,600 N225
FA2H| 36,375 36,600 N225
201 el 20,155 17,000 3,155
01 At2t2ltl 17,000 17,000 0
ORNEg=+=3HI 11,800,000 11,800
O 5,200,000& 5,200
02 23 3,185 0 3,185
033 3,155,000 3,185
202 04| 12,620 10,000 2,620
01 =LHOLI 12,620 10,000 2,620
OJ1=2g! 12,620,000& 12,620
203 g2 3,600 9,600 26,000
04 2A 3,600 3,000 600
ORKNE 3,600,000& 3,600
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H & 0l & AHS B Ml A

od
i’
oF
uJ

R0 &0 w

-

KIO

Hlw

199,853

388,717

388,717

50,000
50,000
250,000

31,445
31,445
31,445

120,000

MEE
Ofl &k2h

3,752,183

2,095,100

2,005,100

300,000
300,000
300,000

3,500
3,500

57,100

3,600
3,600

50,000
50,000

3,500
3,500
3,500

2,400
2,000
2,000

Ofl &F2H

3,952,036

696,636

i

1y

716,000
2,539,400

430,636

2,483,817

Al

I8

716,000
1,337,181

430,636

2,483,817

Al

Iy

716,000
1,337,181
250,000
250,000
250,000

Al

250,000

3,500
3,500
3,500
3,600
3,600
3,600
50,000
50,000

57,100

50,000
34,945
34,945

3,500
3,500
31,445
31,445

122,400

2,000
2,000

- SHRAZA) - HRANY - BES

=L

- 24

KJ
oJ
R0
)

F BZEX M2

=
=

(=}

=
=

HIAH =

==)
==

307 212t01&

0
K
o

ol
o0
o]

K

250,000,000
3,500,000

01 AtR22te|Hl

KJ
KF
ok
ol

KF

3,600,000&
50,000,000&

I

=

01 A<l

401 Al

)
o

0l

3,500,000

2=

01 AFR2t2ltl

al

Mo

01 AtR2telbl

1l

o}
!
OF

0
IS

[0

oK

<

oK

400

2,000
400
400
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A= #z= SN EPOEDL
mal: B2 L MBEY B
SISl M BAEX MUIA JH (o) @)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS
OwZohzel BBEM S 400,0002! 400
207 AN 20,000 20,000
SRR 20,000 20,000
O%Tol S#BYTWI} B
120,000, 0002 20,000
BASBIING 2 14,700 14,700 0
201 Yer2ey| 2,700 2,700
01 AfR 22l 2,700 2,700
OHYSWIFINS 2 &4 29 S
2,700,0002! 2,700
301 Y2 FEZ 12,000 12,000
UBIEERE 2,000 2,000
OHZSYIFANS STt S AR
12,000, 0002 2,000
SRR HIAR (2P E ALY 150,000 30,000 20,000
308 XHXISHAISOI R 150,000 30,000 20,000
B ErEES] 150,000 130,000 20,000
OSHIH PHZ0I X2
150,000, 0002 150,000
ZH0IE He X 1,074,000 1,152,000 AT78,000
2 716,000
Al 358,000
308 XHXISHAISOIH 1,074,000 1,152,000 AT78,000
2 716,000
Al 358,000
01 IXSHBA R XS 1,074,000 1,152,000 AT78,000
OZ0IE HalXe 1,074,000,0002 1,074,000
2 716,000
Al 358,000
ster2d ot E e 24,500 24,700 210,200
201 2er2eiy| 9,000 9,000 0
01 Al 22l 9,000 9,000 0
Osisi2d JMBRISIN &4 49 S
6.000,0002 6.000
OsISIAD 23 SHSE L I
3,000,0002 3,000
202 Oft 500 700 2200
ETETT 500 700 2200
Ostst2d OBl HIEIA S
500,000 500
307 212H01 15,000 15.000
2 BI2toIZ St S| 16,000 15,000
ORolsis2™ 01Xl 8 X
15,000, 0002 15,000
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A= sz SN L EHE D
Im: sA= L MBS 2P
el M SHESX MUIA i (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
AHZSIIE 2el 500 700 A200
202 Ot 500 700 A200
01 =WO4bI 500 700 A200
OaUB01& 2l EEEZM S
500,000 500
HAY SFBAHEEH 2IXA 561,272 300,000 261,272
= 280,636
Al 280,636
307 2Iz2+0l™ 561,272 300,000 261,272
= 280,636
Al 280,636
02 QIRHEAAIHE B X 561,272 300,000 261,272
OQIFAOY 22 HME SYNY L 2
el 1,272,000& 561,272
= 280,636
Al 280,636
SEEA J|EHHHE 12,400 10,000 2,400
201 Ler2 | 11,000 9,000 2,000
01 At 22|l 11,000 9,000 2,000
OXNASALARARS B 29 S
4,500,000 4,500
OALLBTAY T2 +2 S
1,500,000& 1,500
OtZed g8 &4st 5,000,000& 5,000
202 04d| 1,400 1,000 400
01 =LHO4 b 1,400 1,000 400
O WK BHEA S
1,400,000& 1,400
SELEE olg 2 AR 2e 182,000 0 182,000
= 150,000
Al 32,000
308 RXIHMSOIH 182,000 0 182,000
= 150,000
Al 32,000
01 XN AExS 182,000 0 182,000
OYESSALMA FOHLASIAL ALS R
cl 182,000,000 182,000
= 150,000
Al 32,000
Aoetd oldet A 1,435,705 1,558,382 AN122,677
= 266,000
Al 1,169,705
osEtd 85, 2el 1,435,705 1,558,382 N122,677
= 266,000
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o= 23= SA S
3 JAgd et 25
Chelr e B3, 2l EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
307 2Ito1d 30,000 30,000
02 2B YA HE L 30,000 30,000
Oz uE 2 82 T2 Y - 29
K& 30,000,000 30,000
SaEE OtlsES X & XIZH| X2 20,000 20,000 0
308 XXM SOIA 20,000 20,000
01 AXHHN B ELES 20,000 20,000
ORadgset oflissE £ € XI=Hl X
20,000,000 20,000
MElE=Z |X2el 76,200 76,200 0
201 er23 | 1,200 1,200
2 352484l 1,200 1,200
QUESZE Rl 2223
1,200,000 1,200
401 AlEHIYL 2 THYI 75,000 75,000
01 Al&HI 75,000 75,000
OHES2 Zd 75,000,000 75,000
OFMS ST ALY 186,000 9,000 90,000
= 124,000
Al 62,000
403 TR M SAH=01H 186,000 9,000 90,000
= 124,000
Al 62,000
01 AXISHHA =2 £ 186,000 96,000 90,000
OOt S= LHHTAIE &EXIHl X2
186,000,000 186,000
= 124,000
Al 62,000
HEf A wSHE EIXIA 153,000 129,000 24,000
= 102,000
Al 51,000
308 XXM SOIA 153,000 129,000 24,000
= 102,000
Al 51,000
01 HXSHH B E2ES 153,000 129,000 24,000
OdEiAnetHE EXl X2
153,000,000 153,000
= 102,000
Al 51,000
MENHIMEIA XIZSH A XIS 60,000 45,000 15,000
= 40,000
Al 20,000
403 TR SHMSAH=01H 60,000 45,000 15,000
= 40,000
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Al

Ol &F A

Al A

A= gF= A HOIEX0
M 2EHH
Cl: IIE He (SH9 H2)
AR .2 - HH . t:}.<,>_|(§|)1|) c NIEAIY - HA S Of| AFOH SEE Hnz=2
Smo AR e T < B Ofl &k ==
CHOIE & 39,592,061 54,880,540 N15,288,479
= 18,755,408
s 642,000
Al 20,194,653
CHo18HZ A 39,493,501 54,780,801 A15,287,300
= 18,755,408
s 642,000
Al 20,096,093
CHOIE e 494,400 289,400 205,000
MI3XE CIMBBAAl =CHUDISZ2CIAIEAHE =8 2 178,000 0 178,000
207 HA=1IHE 178,000 178,000
01 ¢ EAH| 178,000 178,000
ORHMI3Zt I FAA =AU |BZ2CIAIH
HE =8 Y 178,000,000& 178,000
=Ed 0IMESX ¢ - 2e|dy 2E Xd 230,000 230,000
307 212t01& 230,000 230,000
02 QIZHA A AL E X 230,000 230,000
O=E& 0IMEX &5 - 2eldlH 2F X2
(FIHEEXH) 230,000,000& 230,000
OIMIHX 212 LRE 223 2,400 2,400 0
201 2Et2 & 2,400 2,400
01 AFR2t2ltl 2,400 2,400
OOIMZHAl B2 HA =& S
2,400,000& 2,400
FE ots2 & I8 At =& 30,000 25,000 5,000
308 KEXIEHMSOIH 30,000 25,000 5,000
13 SI1Z SOt E & X2 &AL 30,000 25,000 5,000
OFE ot=2 & JIE &AL =
30,000,000 30,000
OIHXIME LSAIAE AL 54,000 32,000 22,000
402 SIZEXHE0I M 10,000 10,000 0
01 QI T2 AIE 2R (RAMITHE) 10,000 10,000 0
OlHRIME B=Xte B2t XX
10,000, 0002 10,000
403 XX SHHSA=01H 44,000 22,000 22,000
02 S| 2SHICHEHAI=2 H 2 EFAIZ I 44,000 22,000 22,000
ONUXIEE 2= SAIAE AL
44,000,000& 44,000
g SEAIE i 8,010,600 19,453,280 A11,442,680
= 4,905,500
Al 3,105,100
IHEE N=sA22e &X A& 672,000 2,006,880 A1,334,880
= 504,000
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A= Edgd= A U2
LRI IIY
SRl D1 SFAE A EER=E)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
Al 168,000
403 MR HMSAHE01H 672,000 2,006,880 21,334,880
= 504,000
Al 168,000
01 XA =22 E 672,000 2,006,880 1,334,880
OIBE H=A2 BIMY
672,000,000 672,000
= 504,000
Al 168,000
=SASSEID| 4R - 2228l X2 102,000 105,000 23,000
= 68,000
Al 34,000
402 2IZtA=01d 102,000 105,000 /3,000
= 68,000
Al 34,000
02 BIENZASEZ(0IETHR) 102,000 105,000 23,000
O=25NssEIP| € - g2/l X
102,000,000 102,000
= 68,000
Al 34,000
S| SZHES 8 0l XKI&A 30,600 21,600 9,000
201 er23| 1,600 1,600 0
01 At2teltl 1,600 1,600 0
OsAJlg &FMd U= OINAIA 2x23
EVNIESSIES 1,600,000 1,600
402 2I2FXH=201& 29,000 20,000 9,000
01 RIENSA S E X (XM THR) 29,000 20,000 9,000
OsAJ1Y SZMH = OIAKIE
29,000,000 29,000
272 SAAMLE SXALE X2 (HE) 3,956,400 10,800,000 6,843,600
= 2,198,000
Al 1,758,400
402 2I2F X201 & 3,956,400 10,800,000 6,843,600
= 2,198,000
Al 1,758,400
02 QI XHZ AL E R (01X THE) 3,956,400 10,800,000 6,843,600
OARE AEE LXAIE X3 (HY)
3,956,400,000& 3,956,400
= 2,198,000
Al 1,758,400
A2 SHAMSE SXAIE X(XIR) 1,975,400 5,902,400 A3,927,000
= 1,411,000
Al 564,400
403 MR HHMSAH=01H 1,975,400 5,902,400 A3,927,000
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A= Edgd= A U2
LRI IIY
SRl D1 SFAE A EER=E)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
= 1,411,000
Al 564,400
01 A2 2L 1,975,400 5,902,400 A3,927,000
OARD ARIE SXIAE XX (XE)
1,975,400,000& 1,975,400
= 1,411,000
Al 564,400
A2 SAAMEE SXAE EX 28| A2 220,000 210,000 10,000
307 @I2to| & 220,000 0 220,000
02 QB AANEER 220,000 0 220,000
O4R2 SHMST STAE &1 2]
A& 220,000,000 220,000
IASEI(GHP) )| HEXIR(ZE) 179,550 113,400 66,150
= 99,750
Al 79,800
402 2I2FX+=01 & 179,550 113,400 66,150
= 99,750
Al 79,800
02 It A=A 2 _7E(O| ) 179,550 113,400 66,150
ONASEI(GP) eIl X (REY)
179,550,000 179,550
= 99,750
Al 79,800
IIASEI(GHP) D] HEXIR(XI) 874,650 294,000 580,650
= 624,750
Al 249,900
403 AXIEHMSAH=0l 874,650 294,000 580,650
= 624,750
Al 249,900
01 MXIHHA =222 874,650 294,000 580,650
OJASHEI(GHP) WHHED] =X (KIE)
874,650,000& 874,650
= 624,750
Al 249,900
Mo 5,569,410 5,182,460 386,950
= 1,370,000
[ 642,000
Al 3,557,410
SE2THHIAH R M 2ZHAF (REAI) 20,000 42,000 22,000
401 AIEHIZ SR HYI 20,000 42,000 A22,000
01 Al&HI 20,000 42,000 22,000
OHA DIAISX E2EE XA
20,000,000 20,000
SZTHHIASHX H2ZPAH 1,865,000 1,635,000 230,000
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= gF= A U2
= oIEEHe
=2 MzEE o (St &)
Al = % o|(5 = dEE =
A2 RA - BH - BHIE) - HRAY - BES o4 e HDEY
= 1,370,000
Al 495,000
403 NXIEHSIH201A 1,865,000 1,635,000 230,000
= 1,370,000
Al 495,000
01 AXISHAE2ER 1,865,000 1,635,000 230,000
O&Z HINHXE 2UHE=
1,785,000,000& 1,785,000
= 1,370,000
Al 415,000
OL=2 eI ZZAAE &X
80,000,000& 80,000
OISR E52el7Y XA (XIH) 135,000 135,000
403 TR HSTH=01A 135,000 135,000
01 X SHAE2ER 135,000 135,000
OOINIgX ds2el+Y XA
135,000,000 135,000
OIMIZHA SSHHS ole - 2ZA1(RE) 166,000 226,000 260,000
[ 83,000
Al 83,000
101 @124H| 145,900 179,600 A33,700
s 72,950
Al 72,950
04 JIRHH2Z2AEE 145,900 179,600 A33,700
OZAIA elAd] 145,900,000 145,900
= 72,950
Al 72,950
201 223 20,100 46,400 A26,300
[ 10,050
Al 10,050
01 AFS2t2ltl 16,900 41,000 N24,100
OZAIA Xt x| 14,400,000 14,400
[ 7,200
Al 7,200
OAlY 2t AIRESE 78 S
2,500,000 2,500
= 1,250
Al 1,250
02 S22l 3,200 5,400 A2,200
OZAIA Ag g2/ 2,400,000& 2,400
[ 1,200
Al 1,200
OZAE SUHE sS4 800,000& 800
s 400




= gF= A U2
= oIEEHe
=2 MzEE o (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SmrTACER e N S5 B Ol &2 ==
| Al 400
OISR SIS ollg - ZAI(XIR) 794,500 880,500 86,000
[ 559,000
Al 235,500
308 XXM SO0l 794,500 880,500 86,000
s 559,000
Al 235,500
01 XN ELS 794,500 880,500 /86,000
OOIMIZX SEHHE olg - 2Al XA
794,500,000 794,500
= 559,000
Al 235,500
HIASHX H2ZEALS 200,000 200,000 0
206 =4I 200,000 200,000
01 =4l 200,000 200,000
OUHCHAl 281X 2t 200,000,000 200,000
28X MZ A 2,276,000 1,950,000 326,000
401 AlIEHIZL 2 0HYI 2,276,000 1,950,000 326,000
01 Al=H| 2,276,000 1,950,000 326,000
OEZ9 X MAA 1,600,000,000& 1,600,000
o=l T2 MAHALS
368,000,000 368,000
OdtHEX SEZ2E AHE
308,000,000 308,000
OISR E2 & LS AMHIA 22 108,050 107,600 450
201 L2 108,050 107,600 450
01 AtR2telb] 20,000 20,000 0
OO0INEX Ht=22)| 222 ME S
20,000,000& 20,000
02 2324l 88,050 87,600 450
OE2FA FAlE 7X2eld]
18,000,000 18,000
OZ=2F A FEAIAE 722l
24,000,000& 24,000
O==2&EA FEAIAH S4H|
16,000,000 16,000
OoIE sg B2AAE 7X2eld|
5,050,000& 5,050
OlILE S BEAAH S4lHl
25,000,000& 25,000
HIAHSHX A EE 2t 4,860 6,360 1,500
201 L2 2,000 3,500 1,500
01 AtR2te|bl 2,000 2,000 0
ODIMIEX 23 o285 78 S
2,000,000& 2,000
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A U2

A2 2N BB O9(3) - HRAY - BES Ofl by A HImEET
202 044 2,160 2,160
01 =LHO4 L] 2,160 2,160
ODINSX 2 SH0YI 2,160,000& 2,160
301 LetENZ 700 700 0
14 JIEtE A3 700 0 700
OAMAE FZ 2 319 5 A AHIEH
700,000& 700
M= BHEOtA M2 02 25,313,069 28,345,039 3,031,970
= 12,479,908
Al 12,833, 161
SHIAR X BISOIA H2AMS(EX) 23,458,820 25,710,400 22,251,580
= 11,892,810
Al 11,566,010
402 QI2HXH20I ™ 23,458,820 25,710,400 22,251,580
= 11,892,810
Al 11,566,010
02 QIZEXEAIE B A (OIMTHE) 23,458,820 25,710,400 A2,251,580
OHIRX IEItA H2Z A
23,458,820,000& 23,458,820
= 11,892,810
Al 11,566,010
SHIAR X BHSItA H2AFS (REA) 634,723 644,181 N9,458
201 LEt2AH| 510,242 514,181 3,939
01 A2l 35,600 35,600 0
ONZAIY 8= 2 A28 Y S
25,000,000& 25,000
OHHe SHEAAE 22 29 1Y
MOIRRAG EHpE 600,000& 600
OS2 ME HSAIAE ADE L S/W P2
10,000,000 10,000
02 =294l 474,642 478,581 A3,939
ORMAKFX HISIHA H2AIY RQEYLSE
202,000,000 202,000
O M SHEAIAE FX22]
208,646,000& 208,646
OS#HIE SHHAAE M) L SNE
63,996,000& 63,996
307 QI2t0I A 124,481 130,000 A5,519
06 AI2HE 2 124,481 130,000 Ab5,519
OZI|HX SRCHEYI 124,481,000& 124,481
OEl0] St LPGXRE M3t K& At 205,000 910,000 AT705,000
= 102,500
Al 102,500
402 QIZ2HR=201 ™ 205,000 910,000 A705,000
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o= 23= R PIRSin .
33 Hoednme
=lr ASAH BHEIA NZ TR EER=E)
Al = £ o|(5 = dET =
A2 2A - B 9(3) - HIRAY - BES Ol & S DS
= 102,500
Al 102,500
02 QI X2 AL EE(0IETHE) 205,000 910,000 A705,000
O0iel0l Setxte LPGRH &M etX&
205,000,000 205,000
= 102,500
Al 102,500
B30I UEX dsKX 2l 969, 1% 983,358 N14,162
= 484,598
Al 484,598
402 RI”FXH=201H 9869, 1% 983,358 A14,162
= 484,598
Al 484,598
03 2I2+RAETAIS I 969,196 983,358 N14,162
OE3712t BHEX dsKX 2l
969, 196,000 969, 19%6
= 484,598
Al 484,598
S HHEIIA A . NS A SAIZ 2 45,330 97,100 251,770
201 fer= 3| 22,580 22,350 230
01 AtR2t2l] 4,800 4,800 0
o=t s & o5 2d 822 78 S
600,000 600
OMNSAt tHEIHA SISl Al & 52
g =235 78 4,200,000 4,200
02 S3=gl 17,780 17,550 230
OO A St 13,980
oE8E 2,400,000& 2,400
o NHSIHA 460,000& 460
Sy == 120,000 120
o Xt = Al 11,000,000& 11,000
O =& EH] 3,800
o ZFEHIK XY 3,000,000 3,000
oZFAH FEZAL & BE 2
800,000 800
202 Ot 4,600 4,600
01 =LioiL 4,600 4,600
OXtSAt tHEItA 28 AR (HHEIIA B
s) 4,600,000 4,600
301 LEIEES 150 150
14 JIEt2 8= 150 150
OXSxt IHAA D Zatm 150,000 150
405 THAHFESHI 18,000 70,000 A52,000
01 TR ESF SHI 18,000 70,000 ~52,000




A= gF= 2A o128
M 2EHH
=lr ASAH BHEIA NZ TR EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OZEuA! (HAZSFED| S20H
18,000,000& 18,000
oHF B EIHA 106,022 1,510,622 21,404,600
AFHEAIS Y 2elZ st 13,122 13,122 0
201 Lt | 8,132 8,132 0
01 At 22|l 5,000 5,000 0
o F M 2d 22 Y ARE 22 S
5,000,000& 5,000
02 S324H| 3,132 3,132 0
OANSZXSsSHAEX A2l
132,000& 132
O25 oe & e g SR
3,000,000& 3,000
202 (4t 1,620 1,620
01 =04 bl 1,620 1,620
AFUIEHL S =2 L &= o]
1,620,000& 1,620
206 M= 4l 2,500 2,500
01 M=l 2,500 2,500
oF ZE 2 ARE 7Y
2,500,000& 2,500
301 LEHBEF 870 870 0
14 JIEt2 43 870 0 870
Oz g=st=s Y 319 5 AL A28
870,000& 870
o HE AL 81,500 97,500 A 16,000
201 23| 4,000 4,000 0
01 ArR222lt| 4,000 4,000 0
OAFHAIM 2 FHAAL DL U2 &4
=2 S 4,000,000 4,000
403 XX SHHSA=01A 77,500 93,500 216,000
01 AR AH22 £ 77,500 93,500 A 16,000
OAFNSHAEX &UHEX EX2=
52,500,000 52,500
OMEoH MZAY X 23 K&
25,000,000 25,000
AOLE 29 OIMISX - &5 SE2HEH 2= 11,400 1,400,000 21,388,600
201 2Et2 & 11,400 0 11,400
02 E324Hl 11,400 0 11,400
O I Se2HHEH S22l
11,400,000 11,400
AACHR| 2t 2tel 49,520 49,520 0
T2 JHREE AtEh 01Tt X 49,520 49,520 0
st W KR 49,520 49,520 0
201 2E2 & 27,720 27,720 0
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H & 0l & AHS B Ml A

3= SN SHBHED
=HItsst 222 g€EXMAH 25
g =22 WA 2= EER=E)
LR BB S(B) - NRAY - BAS 0 &y e HIRS2
ni 74,300,841 59,640,067 14,660,774
= 3,351,627
g 12,245,000
Al 44,478,214
TH 14,226,000
St =2 €8MAH 2= 116,500 106,500 10,000
g 22l MAH 2= 116,500 106,500 10,000
22| AAMSE At 116,500 106,500 10,000
201 LEt2AH| 116,500 106,500 10,000
01 A2l 6,500 6,500 0
O20IS2E2 NERAE 29 S
2,000,000& 2,000
Osg=ael FA =&H| 4,500,000& 4,500
03 A2 H| 110,000 100,000 10,000
O=z=8 AMOIEZE 2 HygZz2 ) 29
70,000,000& 70,000
ONAH 22 & At 40,000,000 40,000
ots &l 36,218,577 25,923,393 10,205,184
= 1,090,000
s 70,000
Al 20,832,577
XH 14,226,000
IRt A2 = 2l 36,218,577 25,923,393 10,295,184
= 1,090,000
= 70,000
Al 20,832,577
H 14,226,000
St SollASK AT (ME-2E) (MEALY) 5,845,000 4,200,000 1,645,000
Al 1,319,000
X 4,526,000
401 AIZHIZL 2 0HY| 5,845,000 4,200,000 1,645,000
Al 1,319,000
XH 4,526,000
01 Al&HI 4,526,000 4,000,000 526,000
Ot olaAtsSKl INEAI (ME-RIE) (M
SHAFY) 4,526,000,000& 4,526,000
TH 4,526,000
02 2eldl 1,314,000 200,000 1,114,000
Ozt olatsKl WA (M E-2IE ) (M
SHAY) 1,314,000,000& 1,314,000
03 Al&2CHYI 5,000 0 5,000
O=s=d SollaSK HAA (HE-RIE) (A
SHALRE) 5,000,000& 5,000
DA ol ASK AT (ME-21E) (M EALY) 11,030,000 3,700,000 7,330,000




o= 235 A 1 =EotE L
3 ot FH|
Chel: JHRStn e = 2el EER=E)
AR A O () - HEAIY - BAES2 Off AkoH S HDR=2
Smo AR e T == B Ofl &k ==
Al 1,330,000
H 9,700,000
401 Al&BIL S THYI 11,030,000 3,700,000 7,330,000
Al 1,330,000
H 9,700,000
01 AlZHI 9,700,000 3,500,000 6,200,000
O Ak ol AS Kl NEAI (B E-XF ) (&
EhALY) 9,700,000,000& 9,700,000
H 9,700,000
02 Zeld| 1,322,000 200,000 1,122,000
O Ak ol AS Kl NEAI (HE-XF ) (&
EhALS) 1,322,000,000& 1,322,000
03 Al 20HHI 8,000 0 8,000
OuWarE ol ASK HEA (M E-RE ) (&
EhALY) 8,000,000 8,000
SEAE MEHCHY SAAMS(HE-XIH)(HEAY) 6,457,000 5,040,000 1,417,000
403 XM SAH=01H 6,457,000 5,040,000 1,417,000
01 AXISHHA =22 £ 6,457,000 5,040,000 1,417,000
O=EZd Mestd SAG (HE-Xd) (D
Ated) 6,457,000,000& 6,457,000
SIE NEYEE SEoIHAE 1,000,000 1,000,000
401 AlEHIYL S THYI 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
OsJId XNSSEd SeotdAg Jl2
AAIEH 1,000,000,000& 1,000,000
N2 (RE ) “RAIZS FH] 1,025,000 0 1,025,000
403 TR SHMSAH=01H 1,025,000 1,025,000
01 AXSHM 22 1,025,000 1,025,000
ONSUtE=Z2 (2872 “2AIEE FH|
1,025,000,000& 1,025,000
=28 32 4 BHEEEY 190,000 190,000
401 AlEHIYL S THYI 190,000 190,000
01 Al&HI 190,000 190,000
OBgd=9 190, 000,000& 190,000
=Itotd =X 2= 940,000 1,294,000 354,000
= 940,000
403 MR HHMSAHE01H 940,000 1,294,000 A354,000
= 940,000
01 AXESHM A =22 940,000 1,294,000 A354,000
O=Jlotd 7 N2+ 940,000,000 940,000
= 940,000
St R XIZel A 1,656,577 1,294,713 361,864
201 LEeH2 | 5,000 5,000 0
01 AtR2t2lt] 5,000 5,000 0




o= 235 A ot
3 ot FH|
Chel: JHRStn e = 2el EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
O%ldzl #4d+g S 5,000,000& 5,000
202 Ot 4,400 4,400
01 =LHoiL 4,400 4,400
Ootd2el =d0ot| 4,400,000 4,400
203 BR=&H] 2,400 2,400
03 A=A R=EH] 2,400 2,400
OS2l A=A 2,400,000 2,400
308 XtXIEMSO0IE 1,535,2% 1,149,957 385,339
18 SO [2S0tHet 4 A A A 1,535,296 1,149,957 385,339
OMENSHE |AEE+SSAIE |A2AL(S]
&, SEH, 438, 2EH)
1,535,29,000& 1,535,296
403 AXIEHMSAH=0ld 109,481 132,956 N23,475
02 SIS0t =22 P E A I 109,481 132,956 N23,475
OHMHGIE RAS+3SAE FX22(2E
&) 109,481,000 109,481
StE&eDIF=aIE AIEEX 90,000 90,000 0
307 2I2to1 ™ 90,000 90,000
02 LB MAHEE 50,000 50,000
OodtdAeD|IFEIE AHHEER
50,000,000& 50,000
03 2N EE2SHIEX 40,000 40,000 0
Odtdaep|FaH 282L
40,000,000 40,000
SIEEAMEE HnR3 15,000 15,000 0
308 XXM SOIA 15,000 15,000
02 =123 15,000 15,000
Ol EAIZE 1R 23
15,000,000 15,000
Xgotd = Rl2el 6,800,000 5,200,000 1,600,000
308 XXM SOIA 2,200,000 2,000,000 200,000
01 XN BELES 2,200,000 2,000,000 200,000
OXl ot 72 2,200,000,000& 2,200,000
403 AXIEHMSAH=0ld 4,600,000 3,200,000 1,400,000
01 AXEMA2EE 4,600,000 3,200,000 1,400,000
OXlgotd 7 X2el 4,600,000,000& 4,600,000
243 THOHRIE XS HHIALY 70,000 0 70,000
z 70,000
403 MR HHMSAH=01H 70,000 0 70,000
= 70,000
01 AXESHM A 22 70,000 0 70,000
0244 Mol I XIS ZHIAHY
70,000,000 70,000
= 70,000




= A =Hotd

oty g2 = 2L EER=E)
LR BB S(B) - NRAY - BAS 0 &y e HIRS2
HAN S 8l ol&DI2H & (HA) 800,000 800,000
401 A2 HIYL 204 800,000 800,000
01 Al&HI 800,000 800,000
OANHE S 8N otD|2H & (HA)
800,000,000& 800,000
24T ALY FHATZ XNSISAIE EXAIY 300,000 0 300,000
= 150,000
Al 150,000
408 REXISHHSA=01H 300,000 0 300,000
= 150,000
Al 150,000
01 XX SN A= E X 300,000 0 300,000
O244 2422 Fez ANSIEAE X
A 300,000,000 300,000
= 150,000
Al 150,000
&l ZAE ES 2,725,900 2,727,770 A1,870
SAI AL B= 2,725,900 2,727,770 A1,870
2ot OIS0 s83&a &4 3,400 6,270 N2,870
201 LEt2AYH| 1,000 1,000 0
02 =329l 1,000 1,000 0
Oet=3t&A 3 A 1,000,000& 1,000
203 R =&IH| 2,400 2,400
EESSEEESIT 2,400 2,400
OBAIIZAIL B3 Q2EX
2,400,000& 2,400
SSoHEA g2 L A IS 1,422,500 1,521,500 99,000
308 AXISHHSOIA 572,500 711,500 139,000
01 AXISHHEAEXZ 572,500 711,500 139,000
O=ESHEA R 22| 572,500,000 572,500
403 REXIHMS K201 & 850,000 810,000 40,000
01 XX SN AH=E X 850,000 810,000 40,000
O3=3tEA &l - M= 850,000,000& 850,000
IEE 2l AY 1,300,000 1,200,000 100,000
308 AXISHMSOIA 1,300,000 1,200,000 100,000
01 AXISHNEAERZ 1,300,000 1,200,000 100,000
Ot IIEEL SSHelAd 2Zd XA
1,300,000,000& 1,300,000
A J|x ool P 4,434,800 1,802,229 2,632,571
= 2,261,627
Al 2,173,173
OIMGIL 542 2 22N H & 34,247 353,400 847
ez el 235 4,247 3,400 847
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A= gF= £AM ¢ =HotE
M FEE J|x olZet 25
&l SEBE 2e|HAH EE (CH9: &S1)
AR .2 . HEH. CI-_‘,’_|(§D1|) - HIEAIY - HH2 0 AFoH SEE Hn=2
O0lsg EZAANLE 2323
1,500,000& 1,500
O0l=8 =& ZAAAE S 2tel
17,576,000 17,576
206 =4l 6,071 5,448 623
01 M=l 6,071 5,448 623
O0ls8 =ZLANAIAE ABE 7Y
6,071,000& 6,071
AAHT 2EMFIAIE EXIALS 1,680,000 0 1,680,000
= 1,176,000
Al 504,000
401 AIEHIZ 2018 1,680,000 0 1,680,000
= 1,176,000
Al 504,000
01 AlEHI 1,680,000 0 1,680,000
A UEAMACHT] 2EMFAIE EXALY
1,680,000,000& 1,680,000
= 1,176,000
Al 504,000
=B NSEEII| & - 28 EX3 AJAY 497,202 508,031 210,829
= 377,627
Al 119,575
308 REXISHMSOIH 346,219 88,031 258,188
= 276,972
Al 69,247
01 XN BAELS 346,219 88,031 258,188
Ox=&XNSEEIII| 29l XNJA(BR, A7)
346,219,000 346,219
= 276,972
Al 69,247
402 QI2ERH=0I1 N 150,983 120,000 30,983
= 100,655
Al 50,328
02 QIZEXHE AL B X (01 & THEA) 150,983 120,000 30,983
O=&ANSEEIII| EXI8l X (XEX)
120,000,000 120,000
= 80,000
Al 40,000
Ox=&X=s=5EII1Il 28l XI&(XHA)
30,983,000 30,983
= 20,655
Al 10,328
HSF? HIELLE M ALY 1,416,000 600,000 816,000
= 708,000
Al 708,000




o= 23= A 1 =EotE L
M A J|x Tt 25
Gl =EEH 22 M = (SH9 H2)
AR RA BB B(S) - MBAY - B Ofl by A HmS2
401 Al&BIL S CHYI 1,416,000 600,000 816,000
= 708,000
Al 708,000
01 AlZHI 1,416,000 600,000 816,000
OALF HIHQE M2 AL HXIAY
1,416,000,000& 1,416,000
= 708,000
Al 708,000
S3H==HM2lAE 282 437,964 0 437,964
201 Ler2 | 300,000 300,000
2 35244l 300,000 300,000
OSSH=XM2IAIE =2 FAl2c
300,000,000 300,000
307 2I2t01 137,964 137,964
05 2IZtRAEZ 137,964 137,964
O33H=XM2IAIE 2gH N
137,964,000 137,964
HY2AHHI(+=EotA ) 33,350 32,470 880
Jl23tl(=&std ) 33,350 32,470 880
2A24H| 33,350 32,470 880
201 Ler23| 18,450 17,574 876
01 At2teltl 18,450 17,574 876
Oggt===H| 9,298,000 9,298
O=gHl 9,152,000& 9,152
202 04l 10,700 10,696 4
01 =LH0i 10,700 10,696 4
OJl=gf==d 0| 10,700,000 10,700
203 HR=&H] 4,200 4,200
04 FAZHLRFEI 4,200 4,200
ORAMZEER=2] 4,200,000 4,200
Heas(+=&ot) 30,771,714 29,047,705 1,724,009
z 12,175,000
Al 18,596,714
WEHHXIE 30,771,714 29,047,705 1,724,009
= 12,175,000
Al 18,596,714
CAXS A3 HEAL 14,116,000 11,889,000 2,227,000
= 12,175,000
Al 1,941,000
701 JIEtRI HSHES 14,116,000 11,889,000 2,227,000
= 12,175,000
Al 1,941,000
03 BIILELIANN2EES 14,116,000 11,889,000 2,227,000
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A #3833 A 0 Aot
M WRS(HotE1)
&2l WRHHXS (CH9: &S1)
Al = % o|(5 = dEE =
AT A B - BRI(E0) - HRAY - BAS ol &t aes DS
OEAMXS A3 OHLAL
14,116,000,000& 14,116,000
Fas 12,175,000
Al 1,941,000
ARE =ZAIE AR (B E-RIR) 1,077,000 1,237,000 A 160,000
701 JIEt2l HISEES 1,077,000 1,237,000 160,000
03 BIILELEIIAHN2HES 1,077,000 1,237,000 A160,000
OLRIDETAIE A (M E-RIR) (&8
Ared) 1,077,000,000& 1,077,000
MBS DEFHSXCIAE AL SA 7,262,500 7,262,500 0
701 JIEtS HSHES 7,262,500 7,262,500
03 BVIEEEHN=TES 7,262,500 7,262,500
Ox=¢EaF NEHSHCIAL ALSA
7,262,500,000& 7,262,500
JIEISIAHNES (A2 AE FRI22) 2,962,000 3,100,000 138,000
701 JIEt2l HISEHES 2,962,000 3,100,000 A 138,000
02 SIILSEIIAHBNEES 2,962,000 3,100,000 A138,000
OALRAIETAIE SR
2,962,000,000& 2,962,000
== 2z &2 5,354,214 5,559,205 A204,991
705 tl=3RcI3&tE 5,354,214 5,559,205 A204,991
01t~ 4E 4,823,167 4,919,667 A96,500
OEAMXS A3 OHLALY
4,791,000,000& 4,791,000
OARIDETAIE A
32,166,740 32,167
02 Oll==20| Ktatet 89,875 197,155 A 107,280
OEAMXS Al=3 OHLAHY
89,634,880& 89,635
OB A AL 239,930 240
083 Al - EXHED I S0-=R o 390,000 390,000 0
OS2 solarsEXl HEAY
390,000,000 390,000
04 Al - SXISHLD IS0~ 01 KHAHE 51,172 52,383 21,211
Oas2d sollafsKl HEALY
51,171,500& 51,172




H & 0l & AHS B Ml A

24E 5 20lat LBte ) 8tF=
3= SA L e
=Xecg &5
=XCIAE &E EER=E)
LA B - S9(E) - AISAY - BES of v e HIDE2
17,131,009 14,423,259 2,707,750
clolgt 2x 15,806,639 12,697,225 3,109,414
XelAlg &s 15,806,639 12,697,225 3,109,414
==Xl Ul NFs X2 87,600 87,600 0
201 fer= 3| 87,600 87,600 0
01 At 2|l 87,600 87,600 0
Otz SEH2AE 2aXeldl E=
e 87,600,000 87,600
A2=SEHMCAE 2 249 X2 15,719,039 12,559,625 3,159,414
308 XtXIEMSO0IH 14,347,970 1,716,347 2,631,623
18 SIS0t & A A5 At 14,347,970 11,716,347 2,631,623
O 2aSEXcAE BYHAE2E|
14,347,970,000& 14,347,970
403 MR EHSAHE01H 1,371,069 843,278 527,791
02 SISOt =2 A 2 E A I 1,371,069 843,278 527,791
OJtx2aSeXelAE AHEHE23|
1,371,069,000& 1,371,069
= = 773,370 1,726,034 A952,664
= M= 773,370 1,726,034 A952,664
AA BIS2ichMl AR 773,370 1,726,034 N\952,664
201 fer23y| 773,370 1,726,034 A\952,664
02 S3=gHl 773,370 1,726,034 A952,664
O24JtA BiEA A 23
773,370,000 773,370
LeS(ot=1) 551,000 0 551,000
WA XIE 551,000 0 551,000
stE=s 551,000 0 551,000
(VAP TSE= 551,000 0 551,000
01 JIsdES 551,000 0 551,000
OzkXMelAEF8XAXNEI s 8ES
551,000,000 551,000
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